

R M M

ROMANIAN MATHEMATICAL MAGAZINE
www.ssmrmh.ro



Find without softs:

$$\Omega = \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} e^{-4x^2-9y^2} dx dy$$

Proposed by Jalil Hajimir-Canada

Solution 1 and generalization by Daniel Sitaru-Romania, Solution 2 by Nelson Javier Villaherrera Lopez-El Salvador

Solution 1 and generalization by Daniel Sitaru-Romania

$$\begin{aligned} \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} e^{-4x^2-9y^2} dx dy &= \left(\int_{-\infty}^{\infty} e^{-4x^2} dx \right) \left(\int_{-\infty}^{\infty} e^{-9y^2} dy \right) = \\ &= 2 \left(\int_0^{\infty} e^{-4x^2} dx \right) \cdot 2 \left(\int_0^{\infty} e^{-9y^2} dy \right) = 2 \cdot \frac{1}{2} \sqrt{\frac{\pi}{4}} \cdot 2 \cdot \frac{1}{2} \sqrt{\frac{\pi}{9}} = \frac{\pi}{6} \end{aligned}$$

GENERALIZATION:

R M M

ROMANIAN MATHEMATICAL MAGAZINE
www.ssmrmh.ro

$$\begin{aligned} & \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} \dots \int_{-\infty}^{\infty} e^{-x_1^2 - 4x_2^2 - 9x_3^2 - \dots - n^2 x_n^2} dx_1 dx_2 \dots dx_n = \\ &= \prod_{k=1}^n \left(\int_{-\infty}^{\infty} e^{-k^2 x_k^2} dx_k \right) = 2^n \prod_{k=1}^n \left(\int_0^{\infty} e^{-k^2 x_k^2} dx_k \right) = \\ &= 2^n \prod_{k=1}^n \left(\frac{1}{2} \sqrt{\frac{\pi}{k^2}} \right) = \prod_{k=1}^n \left(\sqrt{\frac{\pi}{k^2}} \right) = \frac{(\sqrt{\pi})^n}{n!} \end{aligned}$$

Solution 2 by Nelson Javier Villaherrera Lopez-El Salvador

$$\begin{aligned} & \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} e^{-4x^2 - 9y^2} dx dy = \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} e^{-(2x)^2 - (3y)^2} dx dy = \\ &= \frac{1}{2} \cdot \frac{1}{3} \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} e^{-(x)^2 - (y)^2} dx dy = \frac{1}{6} \int_0^{2\pi} \int_0^{\infty} e^{-\rho^2} \rho d\rho d\varphi = \frac{-\pi}{6} \lim_{\rho \rightarrow \infty} (e^{-\rho^2} - 1) = \frac{\pi}{6} \end{aligned}$$